CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE LEGENDS POINTE MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS

JULY 23, 2024 LJA ENGINEERING, INC.

A. HOLLIDAY JULY 24, 2024 3096-0808 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

BIDDER'S NAME TOTAL AMOUNT BID

1) LEXTON CONSTRUCTION, LLC \$998,250.50

2) PRINCIPAL SERVICES, LTD \$1,044,124.10

CALENDAR DAYS 30/45

I, Steven Perez, PE, hereby certify these bid tabulations to be true and correct.

STEVEN PEREZ

\$\frac{113200}{\frac{5}{2}} \frac{7}{2} \frac{7}{2}

07/25/2024

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE LEGENDS POINTE MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS JULY 23, 2024 LJA ENGINEERIING, INC. A. HOLLIDAY JULY 24, 2024

_5/10			000	00 0000 (0.2)			
			1) LEXTON CONSTRUCTION, LLC			2) PRINCIPAL SERVICES, LTD	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
DIVIS	ION I - LEGENDS POINTE DRAINAGE FACILITIES ITEMS						
1	$24^\circ$ RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	251	\$93.40	\$23,443.40	\$135.00	\$33,885.00
2	12" HDPE STORM SEWER PIPE, ASTM F-2306, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	125	\$41.60	\$5,200.00	\$58.00	\$7,250.00
3	TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	376	\$1.00	\$376.00	\$0.10	\$37.60
4	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$2,719.50	\$2,719.50	\$500.00	\$500.00
5	STAGE I - MODIFIED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$1,523.00	\$3,046.00	\$2,500.00	\$5,000.00
6	STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$1,980.00	\$3,960.00	\$2,760.00	\$5,520.00
7	REINFORCED CONCRETE TYPE "A" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$2,487.50	\$7,462.50	\$3,164.00	\$9,492.00
8	OUTFALL SLOPE PROTECTION NO. 1 FOR 12" HDPE STORM SEWER, INCLUDES SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE FABRIC, COMPLETE IN PLACE	EA	1	\$4,417.00	\$4,417.00	\$1,208.00	\$1,208.00
9	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,350.50	\$3,350.50	\$3,868.00	\$3,868.00
10	EXCAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - 1' BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	280	\$11.20	\$3,136.00	\$3.00	\$840.00
DIVIS	ION I - LEGENDS POINTE DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$57,110.90		\$67,600.60
DIVIS	ION I - LEGENDARY BOULEVARD DRAINAGE FACILITIES ITEMS						
	36" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	475	\$159.80	\$75,905.00	\$220.00	\$104,500.00
2	REINFORCED CONCRETE TYPE "E" INLET, TWO SIDES OPEN, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$4,264.50	\$8,529.00	\$3,316.00	\$6,632.00
3	CONSTRUCT REINFORCED CONCRETE TYPE "E" INLET ON EXISTING STORM SEWER, TWO SIDES OPEN, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$4,391.50	\$4,391.50	\$3,316.00	\$3,316.00
4	EXCAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - 2' BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8' LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	1122	\$11.20	\$12,566.40	\$2.00	\$2,244.00
5	CONSTRUCT REINFORCED CONCRETE TYPE "C" MANHOLE ON EXISTING 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS AND APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,579.00	\$3,579.00	\$3,468.00	\$3,468.00
6	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,391.50	\$3,391.50	\$3,468.00	\$3,468.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE LEGENDS POINTE MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS JULY 23, 2024 LJA ENGINEERING, INC. A. HOLLIDAY JULY 24, 2024

				1) LEXTON CONSTRUCTION, LLC		2) PRINCIPAL SERVICES, LTD	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
7	OUTFALL SLOPE PROTECTION NO. 1 FOR 36"RCP STORM SEWER, INCLUDES SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE FABRIC, COMPLETE IN PLACE	EA	1	\$4,848.50	\$4,848.50	\$1,208.00	\$1,208.00
8	REMOVE AND OFFSITE DISPOSAL OF EXISTING 36" STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	LF	53	\$38.60	\$2,045.80	\$10.00	\$530.00
9	REMOVE AND OFFSITE DISPOSAL OF STORM SEWER OUTFALL, INCLUDES SLOPE PAVEMENT, SLOPED END TREATMENT, AND ALL APPURTENANCES, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,482.50	\$1,482.50	\$500.00	\$500.00
DIVIS	ION I - LEGENDARY BOULEVARD DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$116,739.20		\$125,866.00
DIVIS	SION II - LEGENDS POINTE WATER DISTRIBUTION SYSTEM ITEMS						
1	8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1050	\$36.60	\$38,430.00	\$51.00	\$53,550.00
2	TRENCH SAFETY SYSTEM, FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	1050	\$0.01	\$10.50	\$0.10	\$105.00
3	8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	3	\$2,355.50	\$7,066.50	\$2,308.00	\$6,924.00
4	12" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	2	\$4,046.00	\$8,092.00	\$4,333.00	\$8,666.00
5	FIRE HYDRANT UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$6,178.50	\$6,178.50	\$7,417.00	\$7,417.00
6	WET CONNECTION OF PROPOSED 8" WATERLINE TO EXISTING WATER LINE, INCLUDES INSTALLING 8" X 8" TEE ON EXISTING WATERLINE, REMOVAL, REPLACEMENT, AND OFF SITE DISPOSAL OF EXISTING WATER LINE, ALL FITTINGS, ADAPTERS, AND CONNECTORS NECESSARY, COMPLETE IN PLACE	EA	1	\$1,218.50	\$1,218.50	\$2,500.00	\$2,500.00
7	SHORT SIDE DOUBLE OR SINGLE SERVICE, INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS, AND TAPS, COMPLETE IN PLACE	EA	1	\$1,675.50	\$1,675.50	\$932.00	\$932.00
8	LONG SIDE DOUBLE OR SINGLE SERVICE, INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS, AND TAPS, COMPLETE IN PLACE	EA	2	\$2,030.50	\$4,061.00	\$1,804.00	\$3,608.00
9	DRY AUGER AND STEEL CASING FOR 8" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, SPACERS AND END SEALS, ALL DEPTHS, COMPLETE IN PLACE	LF	45	\$158.40	\$7,128.00	\$75.00	\$3,375.00
10	4" PVC IRRIGATION SLEEVE, SCHEDULE 40, INCLUDES RISERS, PVC END CAPS, CEMENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	LF	250	\$22.30	\$5,575.00	\$19.00	\$4,750.00
11	6" PVC IRRIGATION SLEEVE, SCHEDULE 40, INCLUDES RISERS, PVC END CAPS, CEMENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	LF	130	\$27.80	\$3,614.00	\$21.00	\$2,730.00
DIVIS	ION II - LEGENDS POINTE WATER DISTRIBUTION SYSTEM ITEMS SUBTOTAL:				\$83,049.50		\$94,557.00
DIVIS	SION II - LEGENDARY BOULEVARD WATER DISTRIBUTION SYSTEM ITEMS						
1	12" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	325	\$63.20	\$20,540.00	\$95.00	\$30,875.00
2	TRENCH SAFETY SYSTEM, FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	325	\$0.01	\$3.25	\$0.10	\$32.50
3	12" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	2	\$4,046.00	\$8,092.00	\$4,333.00	\$8,666.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE LEGENDS POINTE MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS JULY 23, 2024

LJA ENGINEERING, INC.
A. HOLLIDAY

JULY 24, 2024

				1) LEXTON CONSTRUCTION, LLC		2) PRINCIPAL SERVICES, LTD	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
4	WET CONNECTION OF PROPOSED 12" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$913.80	\$913.80	\$1,082.00	\$1,082.00
5	PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, ALL SIZES, COMPLETE IN PLACE	EA	1	\$1,254.00	\$1,254.00	\$1,093.00	\$1,093.00
DIVIS	ION II - LEGENDARY BOULEVARD WATER DISTRIBUTION SYSTEM ITEMS SUBTOTAL				\$30,803.05		\$41,748.50
DIVIS	ION III - LEGENDS POINTE SANITARY SEWER ITEMS						
1	6" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0' $-$ 8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	340	\$37.60	\$12,784.00	\$56.00	\$19,040.00
2	6" PVC SEWER PIPE, ASTM D-2241, SDR 26, $0'-8'$ CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	295	\$37.60	\$11,092.00	\$56.00	\$16,520.00
3	STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, 0' – 8' DEPTH, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	6	\$2,970.00	\$17,820.00	\$3,647.00	\$21,882.00
4	STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, SEALED (0' – 8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	1	\$3,020.50	\$3,020.50	\$5,023.00	\$5,023.00
5	TRENCH SAFETY SYSTEM, FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	635	\$1.00	\$635.00	\$0.10	\$63.50
6	VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, COMPLETE IN PLACE	LF	1000	\$0.01	\$10.00	\$0.10	\$100.00
7	SHORT SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,447.00	\$1,447.00	\$1,959.00	\$1,959.00
8	CONSTRUCT SANITARY SEWER MANHOLE ON EXISTING LINE, SEALED (0-12'), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	1	\$3,020.50	\$3,020.50	\$3,649.00	\$3,649.00
9	STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$558.40	\$558.40	\$615.00	\$615.00
DIVIS	ION III - LEGENDS POINTE SANITARY SEWER ITEMS SUBTOTAL:				\$50,387.40		\$68,851.50
DIVIS	SION IV - LEGENDS POINTE MISCELLANEOUS ITEMS						
1	EXTRA REINFORCED FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00
2	EXTRA CLEARING AND GRUBBING, COMPLETE IN PLACE	AC	1	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
3	HAUL UTILITY SPOILS TO DESIGNATED ONSITE DISPOSAL SITE, USING OFF ROAD TRUCKS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$14,316.50	\$14,316.50	\$500.00	\$500.00
4	INCREASE IN CLEARING AND GRUBBING COST TO CHIP AND HAUL OUTSIDE THIS DEVELOPMENT, COMPLETE IN PLACE	AC	1	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
5	EXTRA 18" THICK CONCRETE RIP RAP, PER DETAIL, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	50	\$152.30	\$7,615.00	\$50.00	\$2,500.00
6	EXTRA CEMENT STABILIZED SAND (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	10	\$15.00	\$150.00	\$15.00	\$150.00
7	ADJUST MANHOLE RIM (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	3	\$253.80	\$761.40	\$200.00	\$600.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE LEGENDS POINTE MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS JULY 23, 2024 LJA ENGINEERING, INC. A. HOLLIDAY JULY 24, 2024

				1) LEXTON CONS	TRUCTION II C	2) DDINCIDAL CL	2) PRINCIPAL SERVICES, LTD	
	A DECORPORTION		OTV	,		•		
ITEM		UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
8	EXTRA ORANGE CONSTRUCTION FENCE, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	
9	DEWATERING, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$40.00	\$40,000.00	\$40.00	\$40,000.00	
10	WET SAND CONSTRUCTION AS PER DETAILS AND RECOMMENDED BY GEOTECHNICAL ENGINEER, ALL LINE SIZES AND DEPTH, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$10.00	\$10,000.00	\$10.00	\$10,000.00	
DIVIS	SION IV - LEGENDS POINTE MISCELLANEOUS ITEMS SUBTOTAL:				\$83,042.90		\$63,950.00	
DIVIS	SION IV - LEGENDARY BOULEVARD MISCELLANEOUS ITEMS							
1	EXTRA REINFORCED FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	
2	EXTRA CLEARING AND GRUBBING, COMPLETE IN PLACE	AC	1	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	
3	HAUL UTILITY SPOILS TO DESIGNATED ONSITE DISPOSAL SITE, USING OFF ROAD TRUCKS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$8,630.50	\$8,630.50	\$500.00	\$500.00	
4	INCREASE IN CLEARING AND GRUBBING COST TO CHIP AND HAUL OUTSIDE THIS DEVELOPMENT, COMPLETE IN PLACE	AC	1	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	
5	EXTRA 18" THICK CONCRETE RIP RAP, PER DETAIL, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	50	\$152.30	\$7,615.00	\$50.00	\$2,500.00	
6	EXTRA CEMENT STABILIZED SAND (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	10	\$15.00	\$150.00	\$15.00	\$150.00	
7	ADJUST MANHOLE RIM (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	3	\$253.80	\$761.40	\$200.00	\$600.00	
8	EXTRA ORANGE CONSTRUCTION FENCE, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	
9	DEWATERING, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$40.00	\$40,000.00	\$40.00	\$40,000.00	
10	WET SAND CONSTRUCTION AS PER DETAILS AND RECOMMENDED BY GEOTECHNICAL ENGINEER, ALL LINE SIZES AND DEPTH, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$10.00	\$10,000.00	\$10.00	\$10,000.00	
	SION IV - LEGENDARY BOULEVARD MISCELLANEOUS ITEMS SUBTOTAL:				\$77,356.90		\$63,950.00	
	SION V - LEGENDS POINTE PAVING ITEMS  5" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	5145	\$52.90	\$272,170.50	\$52.00	\$267,540.00	
	2' SAWCUT, REMOVE AND OFFSITE DISPOSAL OF EXISTING 7" CONCRETE PAVEMENT, EXPOSE, CLEAN, AND TIE EXISTING REBAR INTO PROPOSED 5"	LF	83	\$17.80	\$1,477.40	\$15.00	\$1,245.00	
	CONCRETE PAVEMENT, COMPLETE IN PLACE							
3	6" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	5478	\$3.90	\$21,364.20	\$6.00	\$32,868.00	
4	TRU-BLN LIME/FLY ASH MIXTURE FOR 6" STABILIZED SUBGRADE PREPARATION, 50 LBS/SY, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	137	\$265.00	\$36,305.00	\$200.00	\$27,400.00	
5	ROADWAY EXCAVATION TO BE USED FOR FILL TO FINAL GRADE TO STAY ON- SITE, INCLUDING STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	1758	\$6.65	\$11,690.70	\$8.00	\$14,064.00	

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE LEGENDS POINTE MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS JULY 23, 2024

LJA ENGINEERING, INC.

A HOLL IDAY

LJA ENGINEERII A. HOLLIDAY JULY 24, 2024 3096-0808 (9.2)

LUA	OB 140.		,	0030-0000 (3.2)			
				1) LEXTON CONST	RUCTION, LLC	2) PRINCIPAL SE	ERVICES, LTD
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
6	PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$4,900.00	\$4,900.00	\$15,000.00	\$15,000.00
7	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	530	\$4.05	\$2,146.50	\$3.50	\$1,855.00
8	ADA RAMPS, INCLUDES TRUNCATED DOME PAVERS WITH CONTRASTING COLOR PER DETAIL, COMPLETE IN PLACE	EA	4	\$1,745.00	\$6,980.00	\$2,700.00	\$10,800.00
9	CITYSCAPE ADA PAVERS, 300 MM X 150 MM X 60 MM, ANTIQUE BUFF	EA	4	\$1,165.00	\$4,660.00	\$1,000.00	\$4,000.00
DIVIS	ION V - LEGENDS POINTE PAVING ITEMS SUBTOTAL:				\$361,694.30		\$374,772.00
DIVIS	ION V - LEGENDARY BOULEVARD PAVING ITEMS						
1	7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	1506	\$64.50	\$97,137.00	\$63.00	\$94,878.00
2	6" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	1911	\$3.90	\$7,452.90	\$6.00	\$11,466.00
3	TRU-BLN LIME/FLY ASH MIXTURE FOR 6" STABILIZED SUBGRADE PREPARATION,	TON	47.8	\$265.00	\$12,667.00	\$200.00	\$9,560.00
	50LBS/SY, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE						
4	ROADWAY EXCAVATION TO BE USED FOR FILL TO FINAL GRADE TO	CY	1293	\$6.65	\$8,598.45	\$8.00	\$10,344.00
	DESIGNATED DISPOSAL SITE USING ON ROAD TRUCKS, (0 - 0.5 MILE), INCLUDING STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE						
5	PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$6,800.00	\$6,800.00	\$7,500.00	\$7,500.00
6	CONTRACTOR TO PROVIDE MONTGOMERY COUNTY PAVING BOND IN THE AMOUNT OF \$50,529.60, COMPLETE IN PLACE	LS	1	\$1,700.00	\$1,700.00	\$5,000.00	\$5,000.00
7	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	423	\$4.00	\$1,692.00	\$3.50	\$1,480.50
8	INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$350.00	\$350.00	\$1,500.00	\$1,500.00
9	REMOVE AND OFFSITE DISPOSAL OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$25.00	\$50.00	\$50.00	\$100.00
10	TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1,619.00	\$1,619.00	\$1,000.00	\$1,000.00
DIVIS	ION V - LEGENDARY BOULEVARD PAVING ITEMS SUBTOTAL:				\$138,066.35		\$142,828.50
BIDD	ING SUMMARY						
SUBT	OTAL DIVISION I - LEGENDS POINTE DRAINAGE FACILITIES ITEMS				\$57,110.90		\$67,600.60
SUBT	OTAL DIVISION I - LEGENDARY BOULEVARD DRAINAGE FACILITIES ITEMS				\$116,739.20		\$125,866.00
SUBT	OTAL DIVISION II - LEGENDS POINTE WATER DISTRIBUTION SYSTEM ITEMS				\$83,049.50		\$94,557.00
SUBT	OTAL DIVISION II - LEGENDARY BOULEVARD WATER DISTRIBUTION SYSTEM ITEMS				\$30,803.05		\$41,748.50
SUBT	OTAL DIVISION III - LEGENDS POINTE SANITARY SEWER ITEMS				\$50,387.40		\$68,851.50
SUBT	OTAL DIVISION IV - LEGENDS POINTE MISCELLANEOUS ITEMS				\$83,042.90		\$63,950.00
SUBT	OTAL DIVISION IV - LEGENDARY BOULEVARD MISCELLANEOUS ITEMS				\$77,356.90		\$63,950.00
SUBT	OTAL DIVISION V - LEGENDS POINTE PAVING ITEMS				\$361,694.30		\$374,772.00
SUBT	OTAL DIVISION V - LEGENDARY BOULEVARD PAVING ITEMS				\$138,066.35		\$142,828.50
	AL AMOUNT BASE BID				\$998,250.50		\$1,044,124.10